KETTLER

OUTDOOR FOOSBALL TABLE
Model 7199-200 / 7299-400

Adult Assembly Required

Made in Italy

Picture Similar

Prnted on racycled paper.

KETTLER® International Inc. ® 1355 London Bridge Road e Virginia Beach, VA 23453 USA
www . kettlerusa.com
info@kettlerusa.com

Please do not return this ? tread
product 1o the store. :

Contact KETTLER® for ~ %9
parts and service: call toll

free 866.804.0440 or send
email to

parts @ kettlerusa.com. [__
—
\
N
S=—=
KETTLER




Before Assembly (continued)

General Assembly Instructions

The equipment must be assembled with care by two
adults.

Separate all the parts including the hardware.
Compare quantities with the package contents
section and that all items are undamaged. If there
are any problems, please contact KETTLER®.

Before assembling the equipment, study the
drawings and photos carefully then assemble in the
order shown.

Please note that there is always a danger of injury
when working with tools or doing manual work.
Therefore, please be careful during assembly.

Ensure that your working area is free of possible
sources of danger, for example don’t leave any tools
lying around. Always dispose of packaging material
in such a way that it may not cause any danger.
There is always a risk of suffocation if children play
with plastic bags!

The fastening items required for each assembly step
are shown at the beginning of the step. Use the
fastening items exactly as instructed.

» Bolt all the parts together loosely at first, and check

that they have been assembled correctly. Then use
spanner for final tightening. Then check that all
screw connections have been tightened firmly.

For technical reasons, we reserve the right to carry
out preliminary assembly work (e.g. addition of
tubing plugs).

Please keep original packaging, so that it may be
used for transport at a later date, if necessary.
Goods may only be returned after prior arrangement
and in packaging that is safe for transportation ( in
the original box if possible). It is important to provide
a detailed defect description/damage repon.

Package Contents

Number Included-1

Number Included-5

Number Included-8 Number

Included-2

Number Included-2

Number Included-1

Number Included-2



2 each required

1 required 1 required

Leg Assembly

Place legs inside cabinet at an
outward angle. Horizontal bar
between legs should be
toward table end. (A)

Ensure holes in side of cabinet
align with holes in leg. Insert
two M8 x 40 Carriage Bolts
from the outside in towards

leg. (B)

Using hammer, lightly tap bolt
heads into side (C), ensuring
they are flush with cabinet (D).




Assembly

Step 3
Rod Assembly

The foosball table comes with 4 telescopic rods for each team. 2 sets required
The bar scheme is as follows:

Rod with 1xplayer color 1 (Goalie)

Rod with 2x players color 1 (Defense)
Rod with 3x players color 2 (Forwards)
Rod with 5x players color 1 (Mid-Fielders)
Rod with 5x players color 2 (Mid-Fielders)
Rod with 3xplayers color 1 (Forwards)
Rod with 2x players color 2 (Defense)
Rod with 1xplayer color 2 (Goalie)

Take special care to ensure the direction that the player faces during this assembly step.

| =Color 1 Players

Color 1 Goalie

Color 1 Defense

Color 2 Forwards

Color 1 Mid-Fielders

Color 2 Mid-Fielders

Color 1 Forwards

Color 2 Defense

Color 2 Goalie

" == -—‘--_' ;— —
[ conrzcomer_|
: Rl 1

T =Color 2 Players



Assembly

REPEAT STEP 3 A-C FOR EACH ROD AS
SHOWN BELQWV  usetnedisgram on Page 6 for additional assistance.

SKIP BALL DROP HOLE




Assembly

Step 4
Rod Bushing Assembly (Continued)

Using 2 of the M4 x 25
screws, fasten the bushing
into place.

REPEAT STEP 4 A-G FOR EACH ROD

10



Step 6
Rod Handle Assembly

; ' 8 required

Place the rod handle onta
the end of the telescopic rod.
(A)

Lightly tap handle using a
hammer until the handle end
reaches the line on the rod
closest to the table. (B)

REPEAT THE STEP 6 A-B FOR EACH ROD

12



Assembly

Shroud Assembly

6 required
M4 x 25 1 required

Place the shroud over the tables edge with the
rounded edge pointed away from the table as
shown. (A)

Using the three M4 x
25 screws, fasten the
front of shroud to

table. (B)

Using three M4 x 25
screws, fasten the back of
shroud to table.

REPEAT STEP 8 A-C FOR SHROUD ON
OTHER SIDE OF TABLE

14



FOOSBALL TABLE COVER

The foosball table comes
with a cover included
when purchased. Always
cover your foosball table
when not using. This
protects the table from
the elements and
increases the life of the
product to provide many
years of enjoyment!

The cover is equipped with
a Velcro side opening for
ease of use and a tie down
to ensure that the cover
stays in place.

16



Log onto www .kettlerusa.com/warranty and register your
KETTLER® Cavalier Foosball Table Warranty online!

KETTLER USA
988.253.8853

TERMS £ COHDITIONS |  RETAILER & REP LOGIN | CONTACTUS | REGISTER WARRANTY | KETTLER CONTRALT | KETTLER CANADA | WHERE 70 BUY L2 VETTLER

e g;,‘cgﬁ.;ok www.facebook.com/kettlerusa

Yﬂll TUbe www.youtube.com/kettlerusa

1 I‘ $ gwiggér twitter.com/kettler_usa



